

$$a = \frac{xy}{x+z} \quad \text{AI}$$

(z)

$$\frac{xy}{a} - x \quad \text{C}$$

$$x - y = za(m - n) \quad \text{EI}$$

(m)

$$\frac{(x - y + zan)}{za} \quad \text{G}$$

$$z = \frac{xy}{mn} \quad \text{K}$$

(n)

$$\frac{xy}{zm} \quad \text{II}$$

$$x = \frac{y(1+z)}{m} \quad \text{O}$$

(z)

$$\frac{xm}{y} - 1 \quad \text{mi}$$

$$y = (x+1)(z+2) \quad \text{QI}$$

(x)

$$\frac{y - z - 2}{z + 2} \quad \text{S}$$

$$3x = \frac{1}{4}(y - z) \quad \text{W}$$

(z)

$$y - 12x \quad \text{UI}$$

B1

$$x = \frac{1}{2}(y+z)$$

(y)

D

$$2x - z$$

H

$$5m = \frac{1}{3}(3x - 2y)$$

(y)

F1

$$\frac{3x - 15m}{2}$$

L

$$7x - 4y = \frac{1}{2}(3x + 6y)$$

(x)

J1

$$\frac{14}{11} y$$

N1

$$5x + 3y = \frac{2}{3}(3y - 2x)$$

(x)

P

$$-\frac{3}{19} y$$

T

$$6y = 3a - 2y$$

(a)

R1

$$\frac{8y}{3}$$

x

$$2x = x + b$$

(b)

VI

$$x$$

A

$$x = \pi z^2 y$$

(y)

y

$$\frac{x}{\pi z^2}$$

E

$$x = \pi z^2 y$$

(z)

CI

$$\sqrt{\frac{x}{\pi y}}$$

I

$$z = (yx + ax)^2$$

(x)

GI

$$\frac{\sqrt{z}}{y+a}$$

KI

$$x^2 = y^2 + z^2$$

(y)

M

$$\sqrt{x^2 - z^2}$$

Q

$$y = x + az$$

(z)

OI

$$\frac{y-x}{a}$$

U

$$x = 2\pi y^2 + 2\pi yz$$

(z)

SI

$$\frac{x}{2\pi y} - y$$

$$Z = \frac{xy}{x+y}$$

(x) B

$$\frac{zy}{y-z}$$

Z

$$Z = 2\pi \sqrt{\frac{y}{x}}$$

(y) D1

$$x \left( \frac{z}{2\pi} \right)^2$$

F

$$a = \frac{2}{3}x$$

(x) H1

$$\frac{3a}{2}$$

J

$$y = \frac{4}{3}\pi x^3$$

(x) N

$$\sqrt[3]{\frac{3y}{4\pi}}$$

L1

$$x = y - z$$

(y) P1

$$x + z$$

R

$$x = ayz$$

(y) V

$$\frac{x}{az}$$

T1